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GENERAL MATHEMATICS SSC-II
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.
(i) a' +3ab(a+ by~ b =2

A. (u+b) B. (a—b) C. a+b D. o b
{in A linear polynomial is of degree:
A 0 B. 1 C. 2 D. 3
(i) Surds can be multiplied if they are of the:
A Same order B. Order 2 C. Different order D. Order n
(iv)  if P(xX)=x —=2x" +5x+1, then P(1)=2
A 3 B. -5 C. -7 D. 0
V) Product of two algebricexpressions 0
HCF o
A LCM B. HCF C. 0 D. LOM x HCF
(vi) Solution set of | x—1|=4s:
A. {5.-3} B. {-5,-3} C. {-3,3) D. 15,3
(vii) A matrix consisting of one row is called a:
A Row matrix B. Column matrix C. Identity matrix D. Scalar matrix
V2 o0
(viil) If A= then A is called:
Lo V2
A Row matrix B. Column matrix C. Scalar matrix D. Rectangular matrix
(ix) A triangle with no equal sides is called:
A. Isosceles triangle B. Equilateral triangle
C Scalene triangle D. Right angled triangle
(x) All angles inscribed in the same arc are:
A One less than 45° B. Equal is measure
C. One must be obtuse D. Not equal in measure
(xi) A straight angle contains:
A 90° B. 180° C. 270° D. 360"
(xii) A line joining one vertex of a triangle to the midpoint of its opposite sides is called:
A Angle bisector B. Altitude C. Side bisector D. Median
(xii)  Volume of a cube with edge '/'is:
A. I B. 31 C. I D. /!
(xiv)  Area of an equilateral triangle with side "a" is?
A. Lo B. bh C. N2 D. 3 @
2 4 2
(xv) Points on the negative x-axis have negative:
A. Abscissa B. Ordinate C. Value D Fraction
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i GENERAL MATHEMATICS SSC-! K
\%':‘_ii‘;ﬁ'ﬁié,/r’” /
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION - B (Marks 36)

Q.2  Attempt any NINE parts. All parts carry equal marks. {(9x4=36)
(i) Factorize 8x" —6x—-9v+27y".
(i I lP =410 = 3then find values of;
(Y (Y
a) W b) | P——
Py \ P
(i) Find the value of ab —bc + ca when the values of a* +b” +¢" =8l and a+h+c=11.
{iv) If P(x)=3x" +kx-26is divided by x~2, find k', If remainder is 0.
(V) Resolve into factors x* +324 .
2 2 2 2
(vi) Simplify « +ab+b L ab+b
+b a—-b
(viy Product of two expressions is x' +3x" —12x’ — 20x + 48 and their LCM is x' ~ 5x° —2x 24 Find HCF.
-3
(vii)  Solve and graph o +8>6+ 3% .
(ix) Solve using quadratic formula ) +x-2=0.
(x) Find two consecutive positive numbers such that the sum of their squares is equal to 113.
, 1 5||b 35 ,
(xi) If = then find the values of ¢ and 5.
3 a7 10|
) 3 3]
(xii) If 4 =le s then show that 44 -34=4.
ir_ 3 —4 . |
(xii) If B :L ,then find B .
-3 -2
(xiv) A ladder 17 m long when set against the wall of a house just reaches a window at the height of 15 m from
the ground. How far is the lower end of the ladder from the wali?
SECTION — C (Marks 24
Note: Attempt any FOUR questions. All questions carry equal marks. (4 x 6=24)

Q3 Simpify 2 5xT12 2x ~Txod
43" +4x-3 6x +5x—4
Q4. Formaking x' ~12x" +217x + 320 a complete square:
i) What should be added?
i) What should be subtracted?

i) What should be the value of x 7

. ) x—=3y=35
Q5. Use Cramer's Rule to solve simultaneous linear equations. Give reason if solution is not possible 2 Sp—9

Q6. Construct equilateral triangle in which length of each side is 5.3cm . Draw also Medians of each side. Are

they equal in measure?
Q7. Show thatthe points A(2,-5), B(—4.-3)and C(-1,5) are vertices of scalene triangle.

Q8. The area of rectangular rice field is 2.5 hectares and its sides are in the ratio 3:2. Find the perimeter of the

field.
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